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Note: This question paper contains t\\,o p.r11s A ancl B.

Part A is con'rpulsor'1,u,hiclr calries 25 nrarlts. i\nsu'cr all clLrestions in l'art;\. l)art lJ

cor-tsists of 5 Uuits. Anstvcr anv ouc tirll c1 Lrestion tionr each Lrnit. [:eclr t1 ur\iiun e :rli'i,:s
l0 rlarks anci rna1,hal'c a. b" c as srrb clLrestions.
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l.a) Write any f rve file hanclling corrnrands o1'Linirr.
tr) Difltrentiate Directory flle iind trtFO flle.
c) [.ist and cxplain l,arioLrs IPC] nretlrocis.

.l r FllicIirhurrr [ 'rtir clorttirirt i]tltlle ss lultttuts.
e) Explain the strLrctrrlr' ot'[ ][)l) rlutrtglatr.

PATTT - B

).. List ancl cxplain Droces5 Lltilitrcs ot'Lirrir.r.
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()lt
Cive the list of slteil rleta clraraclcrs anti crpllrin cach rvitlr cranrgrlr.

What are attribirtes assignecl to the pl'ocess on exccrrtion o1'fbrit s\stcnl
descliption of each attribute.

()lt
Explain aboLrt device tlle AI'}l.

Wlite a progral'I-l lor reader arrd uriter problc-rr Llsillg naired pipes.
ol{

What is process sy'nchronization'l Ilon,it can be achiel'ccl Lr,1 senraphoi'cs.
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8. Explain the secprence olsocliet s\isterr calls usecl in connectior-r orientcd protocol. Il0l
0tt

Explain tlre protott,pes o f setsocl(opt(). getsocliopt( ) lir r rct ion s.

Explain thc procedure 1bl inrplenrenting I{\11 at scr\ e r sitlc.
olt

Explain the procedure fbr irrplenrentirrg tt\4[at clicnts sicir:.11.
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